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1 kg Risottoreis kostet Fr. 2.70 

Preise berechnen: Zahlenmauer: 

   

    

       

      

205 145 250 310 275 

Addition: 

  8 6 3 0 0 
+  4 5 7 6 3 
+  2 6 5 4 3 
+  2 8 7 5 9 
       

4680 

3579 2468 

  

 

Rechendreieck: 

Uhrzeit: 

    

vor Mittag: 

    

nach Mittag: 

37 
Zahlenfolge: 

 2  

 2 

 
 2  

 2  

 2 

  2   2 
  2  

 2 
 

Proportional: 
Liter 1  5  10  25   

Preis in Fr.  4.80   96.- 

Uhrzeit: 

0 3 1 9 

vor Mittag: 

    

nach Mittag: 

Runde: 

2595   

1294  

101 956  

auf Tausender: 

9525  
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Geobrett: 
C1-E2-D4-E5-D1-D5-C4-

B3-B1-A4-C2 


